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Multiply 2 Two-Digit Numbers

Find 16 x 13.
Step 1 Multiply the first Step 2 Multiply the first Step 3 Add the products.
factor by the ones digit of | factor by the tens digit of
the second factor. the second factor. Use a .
4 zero to show that you are 16
16 3 x 16 = 48 multiplying by tens. X 13
X 13 48
48 4 + 160
16 10 X 16 = 160 208
X 13
48
160 Solution: 16 X 13 = 208
Multiply.
1. 33 2. 81 3. 39 4. 19
X13 X24 X12 X183
5. 17 6. 34 7. 67 8. 35
X29 X61 X13 X 26
Use the Associative Property to multiply.
9. 33 X 30 =33 X ( X 10) 10. 44 X 20 = X ( X 10)
= ( X 3) X = ( X ) X

= X = X
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Multiply 2 Two-Digit Numbers

Coach Stephens wants to buy items for the baseball team.
The team already has hats with the team logo on them, but
the coach would like them to have a T-shirt, sweatshirt,
sweatpants, or a jacket with the team logo. The table shows
the price of each item at the Team Logo Store. Use the table to
answer Problems 1-5.

1. There are 16 players on the baseball Show your work.
team. How much would it cost to order
each player a jacket? Team Logo Store
Item Price
jacket $53
2. Coach S_tephens ordered 23 sweatshirt $32
sweatshirts. What was the total cost of :
his order? T-shirt $14
sweatpants $24

3. The players asked their families and
friends if they wanted T-shirts with the
team logo. If 68 people want T-shirts,
what would be the total cost?

4. Which would cost more: 38 sweatpants
or 29 sweatshirts? How much more?

5. The soccer team wanted to order
sweatpants. The store charges $15 to
design a new logo. How much would
it cost to have the store design a
logo and place it on 17 pairs of
sweatpants?
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